FEE

BEA se| 2 | om0 Temsss (2N

B 4k
ot 3

YRR 2TH# 1 A20E (k) 3EHH

(D £xmAASATT

A g

60 %g (

KRR

1]

2014 EEIH 2 4 HHHR
EHRHOEmFERAT

(1) ROEADROISEL S REE A, B,C OEZRD L. (1) TBEDHTEL.

—21% + 25z — 50 A Bz +C

(z+2)(z2—6z+11)  z+2 T E e+

—9p2 —
(2)/( 222 4250 - 50 e

x4+ 2)(z? — 6z + 11)

3
v dx? — 9+2x =t ki:5<:<&&ic}:”),f de ZR L.
roErR A VT

4 8 8 ,
flzy) = =2y — ¢ + —2® + 37 +2my = =2 = 2y T, ROBWIZER L.

3 3
1) f(z,y) PEESZRDL. (1) EEOHTEL.

(
(2) flz,y) PEEEZRD L.

¥ fr(a,b) =0, fyla,d)=00LZ

H(a,b) >0, fez(a,b) >0 = f(a,b): /Ml
H(a,b) >0, fula,b) <0 == fa,b): WKE
H{a,b) <0 = fla,b): BETR2

L H(@,) = farl,9) fun(2,1) — fay(2,9)? ET 5.

(]

e

DB 2 R® L.

(1) /Uﬁ 4z° arctan zdz (2) /j {/—Z (z + y)dy} dz |
(3) /: (/lx logydy) dx (4) /05 {/:Z y(y® + 9)‘%dy} dr (EFZERE)
(

5)]](3y—5)dxdy (D:x<x®+9y° <1, 220, y=0)
D




REA | f;‘% % &
KL -
BEE | 1 3 B
. %ax 2R & T-2
el IEE |2 2

EEERAY ¥R &£ A s o BB R | %A

= 220 50 B+ ¢ 2] 4y’ Mf 347224 & 2 fzj
b _ + N - A L+ AT - Cx_ﬂﬁ"i:r—%i - "!"""_ + -+ "'_S;_F - 2
(VD) ~6x+11) 2 N A6+ 1y PBHETSS T % d o
—2AMUA-F0 = AL+ + (Bt ) (A+2) ) {[$t)y= 229 + % Lo +24 -£ ; "
A=A —f= 274 o A= -4 - J;Uxui?)zdx _332+5j+21-3+~0 @
U=0 TN 50 = /A +2C O 5
-850 = -4 +3¢ LC==3 , _gx(vjﬂ.ﬂ-)—kz(@ﬁ———)-{}
K=t TN 27 = 6A + 3(B+C) ' “2(1“‘)(%\"‘3‘)
—27 =2¢ +3(B-3) o B=2 S X= | ozl ‘3-*-—;
L2 A=-9,B=2, C=-3 | T A= A E D ey
2 ~2 X S S dx ' —\ —332+5j+2-§:o
8(112)6:62—611—13) ; ‘33 v69 -5 <
- 2X 3 ‘ | _
5g(uxﬂ+zz~éx+n )ax | G]j —/&ﬁfl'f— . ‘1-‘—5_ E
IR L G5~ 9-5)=0 3253
HF2 E=§ %+ C“) ﬂ: _i m‘(,'*h @ 5_)
. 4 2724 3 ' 2 ,_5.2;..
) S{_ Xz Lzttt +(E)2+(1_3)z}oix : ) ~X "' T8 A2 °
P - 3 . '1"-3 "%(7(.‘?_)20 NN 7(.:0,'2
_ ; % =arcts . . "
= 4,on{x+21-r,@:j(1 61+H)+p_ n vz ML), Gy) 3y, /11%79;‘5“{’:\19
& | , Go5).005) , (o, 4), (2,.2)
Jer-xrq 12x=T C R < J4rtx+q = 12X | IS .
o P {2—% [ -  (2) -&u@i%>=_2j 't';g_ ; 7("13{%3)"63‘1'6 ,ﬂéﬂxojb‘z;ﬁZ
G -a+ 9= th-gtr+ex’t HEeD = (2945 ) (=649 +6) ~(—23¢+2)
5"41“01; T4 HU5)= 24022850, $u (1, 4)=2>0
. -t'z-__ .
N = : . i QL e
A a4 —1 . s -j:(i;-— = ___“_2__)_;_ : 4‘} 5 ;L_
ix ‘ ) . -
de | 20 GtD-(R9) 4 26t trie) HO, )= CE) 6—47 —0* = E50 , f 8- 20
T @tr (@it cr :
¥ Gz ! : 'j:(l_;"g“‘)= - ;,7-“ : Fj}iiﬁ@w
2089} 2t -T#/8 .
== Ry "H( =0 () -2%=-4<o
. - Gy .-
t s L e S PR TR IE
—_— e = — _ . .
gi]@c‘—x—r% S o 2 tHe @-n® > 1 (2 F)=0.L2)-(-2) =-¢<0b
41—t 4T~
:g 6 4t - *l:(z,g) ?jifﬁ Ryl
) -9 ,
- 5_,._‘5____
-3 t3)
= _._J_..__.-.-.__i......_ -
S -3 t+3 )M
= Jogit-3] = Jog 143




(4]

Iz -
) S 5»4:(30»\;%%‘.«\15;1 avctamy 4 -1
[}

X LZJ

3 3
= [(1‘*—\)mmtm x]03~g (*-Dalx i“")i;.
T S 5
=85 -nof - [Lf-x7,
= fx —5-13)
= _g_.?[,
> 2

e
~ 4“6 D_i' {32 ('E)S’“i" (4-1) - 7{2"(%)}
= .9
2D
7 rx N 3
) gr ((* Logy 43 )4
!
_ (7 4z
~§ [0y -9 dx
i 3= JZJ
jX

7
§l {(Zﬁoﬁ%—!’o‘%{z—;)}m X'x

7“.

_. )
([%1%39(17-;}5‘%& ~[Fa-i5]]

= > (@097 = 10) -3 [2 )] L (30-0)
= 3 9097 —a(29-1) —18
= 1007 = 30

3 2
@ gix'j(‘jg‘%q.) d‘j?ﬁ{i we (¥)

A
3
s wel, FxsYL L
} D . 5 j | 3 \ j="';§3(
THhSY, g 75 Sy 1 @egY)
D: 08383, 059 5 _—
[ARTE A
3 {—g‘i’i 3
c#)zgo{j Y(¥rq) Tdx }d
: .
= 5 [x4 (yP43)® Tﬁ "4

J
M&bl \;—l
S

[°¥]
~
R
A
=N
Ly
p—
M
N
L8
I
S
L

:g?{g {3v%cme — gp)évgds
| o b o

;\i{;ﬂféf"> Tace

Sgo(aj~;)d:¢d3 (D
= ggp, (3rsn& -5 ) YArd s
(D 050sE wsosTs )

-~ Z

L= TCose
(5) {
Y=rsmé

usxeptel 220, 920)

T

S

M

d

g

i

XJOfw%H“é-w

[ visme - ]W%@

i~asie ) tde

'|,~I

= g {9m9+60§@ (—:M@)—“sm 5 } {Q

fl

s 1T
[ [$00346‘];‘ ''''' e

J iy
& (o f-)‘“gr-?'t
- 3 _ 5

e Tt



